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HWIH : 202444 H14H (H) 28 RACTAB K—2& %77 —/1(50m)

No.51 B3F 50m #ik& 84 LL—RRE KRR 454

LK ATIL—T >

B & £ i & 2E KK B
1 By E HPFLESS /2 1/ 4 47.15 *F&) 7#% ( 0.60)
2 BEH K TRANRT 4 A N2 1/ 3 52.54 3% ( 0.60)
3 HEA i TANRT 4F N2 1/ 5 55.03 2% ( 0.79)
4 PEHSEEA TANRT 4 A N2 1/ 6 1:01. 84 ( 0.62)

No. 53 BB+ 50m &EikE B A LL—RRE KEk 3631

L BIIL—T >

B & £ T & FE KK B
1 KB BEF KSCTH /N4 2/ 4 40. 45 8#% ( 0.61)
o ikl B KSCTH N2/ 5 41.01 7k ( 0.62)
3 EH T ZNT oA M 2/ 6 47. 51 4#% ( 0.58)
4 i ER J—XAC /N3 1/ 4 48.03 6% ( 0.60)
5 HH FH TANT 4 I3 1/ 3 50. 53 5#% ( 0.60)
6 A FHE KSCTH /N3 1/ 6 53.02 3% ( 0.59)
T KR S KSC#F~X /M 1/ 5 54. 69 ( 0.62)

No.55 BF 50m Fik= BALL—R R AR 33.57

L CHIL—T >

B & £ T & BE KK B [
1 AR 1R T2ART 4 A N6 3/ 4 34.39 T#H% ( 0.62)
2 BPAS 7K <BHL&ESS /)5 3/ 5 38.75 *F#H T#% ( 0.53)
3 MR A J—XAC NG 3/ 3 39. 42 4% (0.67)
4 N JE FH KSCTH /INB 3/ 6 41.15 3tk ( 0.58)
5 /I o KSCTH /N5 3/ 1 42. 40 5#% ( 0.67)
6 b H£ih HEF S C /N5 3/ 7 43. 91 4%% ( 0.61)
TR i TRANRT 44 N6 3/ 2 44. 40 1% (1.14)
8 HH IEfn KSC#F~ /)6 2/ 2 47.06 ( 0.73)
9 JbiE A KSC#F~ /)6 2/ 4 47.75 ( 0.72)
10 HEl  KH HEF S C NG 1/ 6 49.57 ( 0.69)
11 & BEF KSCTH /N5 1/ 5 49. 98 ( 0.54)
12 §62 £ PSPSR)) NG 2/ 5 50. 84 ( 0.72)
13 2 FEML BED /NG 2/ 6 51. 31 ( 0.69)
14 fE1 KK HEFE S C NG 1/ 3 51.48 *F&) ( 0.65)
15 S FFF KO J AK /NG 1/ 4 51. 71 ( 0.64)
16 i B J—XAC N5 2/ 3 53.98 ( 0.76)

No.57 BF 50m ik 8 A L L— R R RERE 2948

L DIGL—T >

B K £ T B FE KK B FH
BV NI 2 HFLESS 13 2/ 4 30. 30 8#% ( 0.54)
2 /NFE PEE WHEFSC i3 2/ 3 39.59 ( 0.64)
3 fEil sifE KSCgERJ)II 1 1/ 4 40.79 1#% ( 0.74)
4 FHRHE LR BELD 12 1/ 3 41.79 (0.71)
5 thpszh BELEY 1 2/ 6 42. 40 ( 0.87)
6 KIS W HESF S C 1 1/ 5 42.76 ( 0.61)
7 lhn FHE J—XAC oh| 1/ 6 44.20 ( 0.60)

No.59 ¥ 50m HikE B A LL—R R A&z 21.26

L CSTNL—T >

B & £ T B FE KK B FH
1 /N R B HEF S C =2 1/ 4 28.90 8#% ( 0.56)

HAO BB 48140 12:41



910 S T G FHE KK KRS 2/2

HIH ;202494 H14H (H) &8 RACTAB F—24 %77 —/1(50m)
No.59 BBF 50m &Eik=F A LL—R R AR 21.26
L CSTIL—T >
B K 4 i & PE KK B
2 KIE  fgEn J—ZXAC =3 1/ 5 33.35 3#% ( 0.58)
3 B %% J—XAC = 1/ 3 35. 74 1#% ( 0.64)

HAOBRME . 4H14H 12:41



